
 

 
 

Level 2 – Fortgeschritten – Blatt 2 

Lösung A1 
a) �′��� � �� 	 2� �′′��� � �� 	 2   

b) �′��� � 3�� � � 	 1 �′′��� � 3�� � 1  

c) �′��� � ���� 	 �� �′′��� � ��� 	 ��   

d) �′��� � �2���� 	 4��� � 2����2 � ���� �′′��� � 4���� � 4��� � 4������� � 1�  
e) �′��� � �2� � 2� ⋅ �� 	 ��� � 2� � 1� ⋅ �� 
  � ���2� � 2 	 �� � 2� � 1� � ����� � 3� 
   �′′��� � ����� 	 2� � 3�   
f) �′��� � �� ⋅ �3� � 1� �′′��� � ���3� 	 2�  
g) �′��� � 6� ⋅ ���� � 12�� ⋅ ���� � 6������ � 2���  
  �′′��� � �����48�� � 48� 	 6�  

h) �′��� � �
� �� ⋅ ��� 	 �� ⋅ ��� � ��� ��� 	 �

� ���  

  �′′��� � ����2�� 	 6�� 	 3�� 
i) �′��� � �����2� 	 3�  �′′��� � ����2� 	 1�  

j) �′��� � �����1 � ��� 	 ��� � �������� 	 �� � 1� 
  �′′��� � �������� 	 �� � 2�  
k) �′��� � 2�4� 	 �����4 � ����  �′′��� � �����32��� 	 ���8� � 16� 	 4� 
l) �′��� � 2���� ⋅ ���� � 1� �′′��� � 4�������� 	 1�  
m) �′��� � ����� ⋅ �2� 	 7�  �′′��� � 4������� 	 4� 
n) �′��� � ���,!� ⋅ �2� � 8�  �′′��� � ����,!� ⋅ �� � 6� 
o) �′��� � ����� ∙ ��� � 2� �′′��� � ���� ⋅ ��� � 2� � 2� 
p) �#′��� � � ���#��

$%   �#′′��� � ���#��
$%  

q) �′��� � ����,&��48��,��� � 60� �′′��� � ���,�(��23,04��,&� � 36��,�(��  
r) �#′��� � 2����� � *�  �#′′��� � 2���2�� � *� 
s) +�′�,� � ��+� ⋅ ����-���- � 2�  +�′′�,� � ��+�����-���- � 4� 
t) �#′��� � �*�� ⋅ ���#�  �#′′��� � *����#��*� � 1� 
u) �#′�,� � �#$%

�$%�#�.   �#′′�,� � � �#$%�$%�#�
�$%�#�/  

v) �-��� � $0%�$10%
$0%�$10%  

 2 � �-� � ��-�  23 � ,�-� 	 ,��-� 
 4 � �-� 	 ��-�  43 � ,�-� � ,��-� 

 �-���3 � 567�765
7. � �-$0%�-$10%�⋅�$0%�$10%���-$0%�-$10%�⋅�$0%�$10%�

�$0%�$10%�.   

 �-���3 � -$.0%�-�-�-$1.0%��-$.0%�-�-�$1.0%�
�$0%�$10%�.   

 �-���3 � �-
�$0%�$10%�.  | Erweitern mit ��-� 

 �-���3 � �-$.0%
$.0%∙�$0%�$10%�. � �-$.0%

$80%��$.0%��  

 �-���3 � �-$.0%
�$.0%���.     

 2 � 4,��-�   23 � 8,���-� 
 4 � ���-� 	 1��  43 � 4,��-����-� 	 1� 
 �-���33 � (-.$.0%⋅�$.0%���.��&-.$80%�$.0%���

�$.0%���8   

 �-���33 � (-.$.0%⋅�$.0%�����&-.$80%
�$.0%���/ � (-.$80%�(-.$.0%��&-.$80%

�$.0%���/   

 �-���33 � (-.$.0%�(-.$80%
�$.0%���/ � (-.$.0%���$.0%�

�$.0%���/   
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w) �′��� � ������$.%
��.√�   �′′��� � ��&�.������!�$.%

��/√�  

 

Lösung A2 
���� � 2� ⋅ ���  �′��� � �����2� � 2� 
�′′��� � ����2� � 4� �′′′��� � �����2� � 6� 
Die :-te Ableitung errechnet sich über die Formel: 

��;�′��� � ��1�; ∙ ��� ⋅ �2� � 2:�;    : ∈  ℕ∗  
Somit ist �����′��� � ����2� � 20�.  

 

Lösung A3 

a) �′��� � �2 @��AB: ��
� �� 	 4� � CDA ��

� �� 	 4�E  

 �′′��� � �2 @3�AB: ��
� �� 	 4� 	 ��CDA ��

� �� 	 4�E 

b) �′��� � ��⋅�3AB:��� 	 �CDA����  
 �′′��� � ������ � 6�AB:��� � 6�CDA���� 
c) �′��� � 2�CDA���� � AB:�����  
 �′′��� � �8 CDA��� AB: ��� 
d) �′��� � 3��� � AB:����� ⋅ �2� � CDA����  
 �′′��� � 3��� � AB:������AB:��� 	 2� 	 6�2� � CDA�������� � AB:���� 
e) �′��� � 2*�CDA�*�� � 1� ⋅ �AB:�*�� � *��   

 �′′��� � �2*��AB:��*�� � *�AB:�*�� � CDA��*�� 	 2CDA �*�� � 1�  
f) �′��� � ��AB:���� 	 sin��� CDA��� 	 �CDA���� 
 �′′��� � �2�AB:���� 	 2xsin��� CDA��� � CDA����� 
g) �′��� � 2��AB:�4� 	 3� 	 2� ∙ CDA�4� 	 3��  
 �′′��� � �2 � 16��� AB:�4� 	 3� 	 16�CDA�4� 	 3� 


